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2. Speed —Torque

Torque

1) NEMA Design Code (MG 1-1.16)

Speed-Torque
Speed-Torgue A B, CD
B, C, D,
NEMA Design
NEMA Initial Starting Starting Full Load Breakdown Efficiency
Design  Cost, % Torque,% Current, % Slip, % Torque, %  (Full Load), %
B 100 Normal Normal Low Normal High
(100 ~ 115) (550 ~ 650) (3) (200) (87~92)
~ High Normal Low Normal High
c 105~-115 (200 ~ 250) (550 ~ 650) (3) (190) (87 ~92)
High Low High High Low
D 110 ~ 180
(225~300) (450~550) (5~8)or(8~13) (225~ 300) (82~86)
Code Speed-Torgue
, Design
NEMA Design
Deep-Sot Bar
. Bar
Design B , Speed Bar Uniform
Sip
2 Bar : Bar
Impedance Bar
: Impedance Bar
DesignC : Bar Torque
Bar
Impedance
Bar
Design D Bar '




2) Design Code
Speed-Torque
D
Speed-Torque
Torque , Torque
C , 2 3  Torque
| |
Speed NEMA Design B,C,D
NEMA Design B,C,D
Design
- Torque * M-Gsat
d ’ e Fan
B - GD? e Blower
) e Pump
) e Compressor
e Hoist
- Torque e Crusher
C e Conveyer
- B e Compressor
- GD?2 B e Plunger Pump
_ 2
GD B, C e Crane
D ] e Hoist
e Punch Press
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4. Motor
Pump  Blower
1) Pump
Process (Rated Capacity) (Heedor  P)
Pump (BHP : Break Horse Power) ,
9.8QHr
P = K——— [kw]



P: K: (1.15) Q: [m?/s]
H - [m] r : Specific Gravity n: Pump
2) Blower
: 1.1 : 1 mAqQ Fan, 11~ 20,
1 mAq 1K gf/cm2 Blower
Blower
Qs H
P = K [KW]
6120 nf nt
P: K: (11 Qs: [?/min]
H: [mmAq] nf: Pump nt:
(n ©) (n
0.9~0.93 0.95~0.97
\% 0.95 0.95~0.98
Coupling 1.0




